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431 1: oilRall USilell FAUIGI VAV (5 HIS )

(1) il i vyl VisHi auii:
(i) AISI AR &1 9] dlly -
(ii) Adidll ¢ ASA| YA -

(2) il 2ANcl AvAIRAlel AGEMI Gvil:
(i) 3,275 -
(ii) 54,890 -

(iif) 14,890 -

Y31 2: oflAail Uslicll FAUIGI HAIM] . (5 HIS )

(1) 1 As 25coil caiig 15 AH] e, di 8 :5dsil sa dailg s2dl 21el?
(2) 250 HleR + 375 ¥l2R =
(3) 1 [sdivle? = ER

(4) 4500 24l = ER

(5) 15 Hl2? + 300 JHl =

u8i 3: oilAail Yl all HidU YYG FAIGH 2A1YI (5 HIS )

A)144+12=________
(5) %1 1 Uelall HIY T7 S, di 9 Yol HI2 S2d 3Gl @IP121?
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Y3 4: oilRiall USllell FAIGi AN (5 HIS )

(1) S 25 1200 g21 ¢ 1, di 4800 &2i Hi2 Sedl 2siofl %32 ysel?
(2) %1 F2000 Hi 400 Yol M4, dl 1Yel HI2 S2dI 31 US2i?
(3) 25 &2 + 3 IR + 700 + 50 + 4 =
(4) 95 &I + 6 &I + 800 +20 + 9 =
(5) 30 Yl = ER

Y3 5: oflail Uslicll FAUIGI KA (5 HIS )

(1)9+18 +27 +36 =
(2) 250 x 4 =
(3) 960 + 8 =
(4) %51 14122 €iRlof] [SHd 9 ¢, dI 12 Hl2? €1Rlail (SHd Sadl &2i?
(5) 3.5 JHl + 6.3 JHl =
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